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Decimaler Subtraktion (3 siffror)

namn:

6.511
-8.07

1.154
-9.369

3.653
-2.41

6.2
-9.02

3.138
—-5.437

3.549
—38.091

3.782
-4.897

8.83
—-8.926

3.554
—9.984

6.878
—6.72

1.992
-3.512

5.034
—/.271

1.155
=5.771

6.326
—8.021

6.533
—8.608

www.snowmath.com

Datum:

5.021
-4.197

6.74
-5.09

3.633
—3.987

6.16
-/7.111

6.18
-5.105

Poang:

4.802
—2.988

9.826
-5.929

4.723
—-2.537

5.477
—6.752

0.375
—-3.292
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Decimaler Subtraktion (3 siffror)

namn:

6.511
—-8.07
-1, 559

1.154
-9.369
-8,215

3.653
-2.41
1,243

6.2
-9.02
-2,82
3.138

—-5.437
-2,299

3.549
~8.091
4,542

3.782
-4.897
-1, 115

8.83
—-8.926
-0, 096

3.554
—-9.984
-6, 43

6.878
—6.72
0, 158
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1.992
-3.512
-1,52

5.034
—/.271
—2,237

1.155
-5.771
-4,616

6.326
—8.021
-1, 695

6.533
—8.608
—-2,075

Datum:

5.021
-4.197
0, 824

6.74
-5.09
1,65

3.633
—3.987
-0, 354

6.16
-/.111
-0, 951

6.18
-5.105
1,075

Poang:

4.802
—-2.988
1,814

9.826
-5.929
3,897

4.723
—2.537
2,186

5477
—-6.752
-1,275

0.375
—-3.292
-2,917
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